MA109 — College Algebra Spring 2016

. Sel j‘.f-“m, :
Final Exam 2016.05.03 Name: S’@ WA S Sec.:

Do not remove this answer page — you will turn in the entire exam. You have two hours to do this exam.
No books or notes may be used. You may use an ACT-approved calculator during the exam, but NO
calculator with a Computer Algebra System (CAS), networking, or camera is permitted. Absolutely no
cell phone use during the exam is allowed.

The exam consists of multiple choice questions. Record your answers on this page. For each multiple
choice question, you will need to fill in the circle corresponding to the correct answer. For example, if {a)

1s correct, you must write @ @ @ @

Do not circle answers on this page, but please circle the letter of each correct response in the body of the
exam. It is your responsibility to make it CLEAR which response has been chosen. You will not get credit
unless the correct answer has been marked on both this page and in the body of the exam.

GOOD LUCK!
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For grading use:
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| (out of 20 problems) | (out of 100 points)




Name:

Multiple Choice Questions
Show all your work on the page where the question appears.
Clearly mark your answer both on the cover page on this exam
and in the corresponding questions that follow.

1. Solve for r in:
(r*—49)(4r — 8) =0

Possibilities:
(a) The only real solutions are +-7.

The only real solutions are 2 and +7.
C) The only real solutions are 4 and 49. = T b co =2

. &
=0 7= Yo o TE

(d) The only real solutions are & and 49.
)

(e) The only real solutions are 4 and 0.

2. The point (7,4) is on the graph of which of the following equations?

) 28 = 284 () T 28429 = 28428 2

Pssibilities: (oc !
4:1:+28: 28 + Ty HiFV=0 T Ne
(b Y P 2g = (a8 T D pg12s=16428 T No

(
(d) 28 4+ zy = 16 + zy

) x
c) 4$+28~4y+28
)
(e) z=y—3

2R ) = bR T 22167 No
o= .2 :ﬁ’ N{}

3. Let
3r—1 o< =2
flx)=<¢ 22+3 if —2<z<5

—2x—5 ifzr>5

Possibilities:

(a) 1

(b) —13

@

(d) 209

(e) 4




4. Solve for z.

Possibilities:
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(b) —w_gj*/ﬁ
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b. Solve the equation.

Possibilities:
" r="Tand 3 =9
- r=-3and = —5H
) r=4and z =
) =2 only
) x=—6and r = -8

log(x — 4) +log(z — 6) = log{6z — 39)

= }?mg (Cx- %(x n) = «@*’i’gf@f\ -29)

= % e [ox + 63 =0

= (X =9)(x~F) =0
:ﬁ} o and. W= F

6. Let f(x)=4". Which of the following is f(2)?
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7. The radioactive element Sodium-24 has a half-life of 14.96 hours and is used to measure radiation
dose and circulation in human blood. How long should it take for 76 milligrams to decay to 18
milligrams? A= aitial amount

Possibilities: ACEY= avmourt o Time & in Pours

(a}) About 63.16 hours = «":ﬂf‘ﬁ i?ﬁ:f.afi’llf'\ﬁﬁ @l._@m if Fmﬁ st ~n (i T

31.09 hours Whafﬂf- e = 14.26 & ’i."A@ i;(i: i)

) About 867.68 hours A=A GQ_,"M: | < % = S‘ .

(d) About 0.14 hours =, |9 = 74 @:‘@'O%g = L érﬁ%}/Q: m'%}{}i‘{f‘}é}

(e) About 2.08 hours = L Ci’% \) & N7 d:‘?ﬁ%’%‘g X 0. 0163
—O. 043

=Ex3.09 hours/

8. Find an equation for the line through the points (6,3) and (9, 4).
S
Possibilities: X 4, %a ‘b2
_ - - i
(a) y+3 3($+6) mﬁ:j@f@i«}wm i 3_:: —
(b) y+3 = {z+6) K-k a-b 2

(c) y—3=23(z—6) ij-aj\::_m‘(){-«}(h
(d) y = —3(x—6) -3 -

@r-1-ta-g 43 T30

9. Which of the following statements best describes the system of equations?

. - N
{ g+ y=4 =y —At-ad = o)

L
22y =8 =, 2wt 2y &
e X T ————_

TS R @é = O

Possibilities: = o =0 always True
"H«f“’ﬂ* Z ad'}‘f}"éfiﬂr"f £ 5 ?JZG()?W C{f?m%" i

(a) The system is consistent. It has exactly one solution which is (4, 8). T :5 an infralte numbar

i B w.% i
(¢) The system is dependent. Two solutions to the system are (4,8) and (2, 2). o eolod e
One point that is NO'T a solution to the system is (1,1). S Wy EY
i

(b) The system is inconsistent. Therefore the system has no solutions.

{d) The system is dependent. Every point is a solution to the system.

The system is dependent. T'wo solutions to the system are (1,3) and (2, 2).
™ One point that is NOT a solution to the system is (0, 0).




10. You have already invested $300 in a stock with an annual return of 3%. How much of an additional
$1,250 should be invested at 4% and how much at 1% so that the total return on the entire $1,550
is 2%7

The multiple choice problem only asks for the amount at 4%.

K= O\“’\r’\@ﬁfﬂ’} FRUCE f’f@rﬁ m ui
% = armounT PANES Efiicg a+ 1%,

Xty =250 = Y=, 250 X

Possibilities:

(a) $033.33 at 4%

(b) $600 at 4% |
) §1033.33at 4% OQ-O3(Bod) +0.0HXTC.0Ly = 0-02(1,550)

O$31667at4% =D+ D04t @01 (1,250 —x) = 3|

=y 9a 004w +0-01 (] L?é"f;m@nc:f;;ff:'i@?
(8) $51667 at 4% WM:;[ 3 4 @ o ;}( iy kQ g .

= B.o3x = 9.5 = X Sh S

et k)~ f(2)
h

11. Let f(z) = T7z* 4+ 4z — 18. Find and simplify. (Assume h £ 0.)

Possibilities: . |
(a.())silxl-:— i;,s "Q(%%M Tx ﬂ\} - ek =560z — I uxtld

6zh + 32 — 2 —7%( Z}(%%h?)f %va“f’fﬁ ~1§
(b) h = F¥x “ythch+ FR2e ”‘"'f"’?%%
() 1 E iy~ f&f‘y ?Z{z [t Fh & g 44 h {s"—~ Tt T Lo 19
(d) 7 Iy N |
(eN\ldz +4+Th < vh+ Fhf HA _ Mi%w_}m Ling 4 WL}’ :

I

12. Write the domain of the function h{x) = log(z — 7) in interval notation.

Possibilities:

X-F r0o = X7 =




13. Which of the following is a factor of P(z)? (See the top of the page )

POSSibilitieS: F'{:" Cf%’ (K ﬂ} gk; A «*"rg\fﬂ? Fole @rg oo ‘J{m{ijf’?;a‘ P(}Q ,“W o /“\C; .
(a) (z—4) anly i PO

DN e o L _ g — L - u,\} 3 ﬂ@A o
Ez_i; POy = 94 deh - Y F:-- b2 U ~ b FO = {:gicw OEQ o0
() (z—1) oD = V+6(D-27 = 9418 ~27 =6 =5 (x-3) it afachcor F@.
PIBY= 94 8(5) -5 7= 94 35125+ |
(©) (z~2) R |
BN E 9N~ 115 FO
CLN = G 4427 =94 12-8 FO

14. Determine the end behavior of the graph of y = P(z). (See the top of the page.)

o —
‘d‘-}@m a8 }_;;m‘)-fﬂg‘ 5—'5; -t oS }(’_%Cﬁ

1 -

Possibilities: ! eoding Fewn oné LY 6 =%
(a) y = ocasz —ocandy — ooasz — —o0 LQOC}\ (“mé”!; {jn@@aw\ix“} :
{ asz —ooandy — 00 as I — —00 DQ‘%NC o W‘y\" 4 (@Ac&
(Cy — Dasz—owandy — Oasz— —x e j{c@r\aijmf” ’i’:ﬁ{
(d) y ~» coasz — o0 and y = —o0 as & — —00 5
() y— —-o0asz —socandy —+ —00oasz — —o0 . { \i
|

P
15. Find the remainder of the division problem E—_(—E% (See the top of the page.)

P0851b111tles u}, _é_gxfw% :f"% = “K’g_
() SCENEv el
(= %EWB% ) ggff;jy
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Gy B s
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~{(73%-9)




16. Suppose the graph of y = f(z) is a parabola with vertex (1,3) and goes through the point (0, 5).
Which of the following is an formula for f(z)?

VFO{mLAEo ’?QF@ %kfmh o “‘f[)@\ &Kx }\\ szég

Possibilities: ; ol
(a) f@) = (z+1)2+ (hh)is Fhe vechex
(@fg (?“1)()%3) FOD=o(x-N"+3
L) = 1)? T . W& ., - g
(d) fl@) =4z +1)°+ = 5:%663*;:: alo-D+% = o(-D3 = ot
(e) f($)ﬂ($+1)(93+5) = 5 atE o= @\“.’2
"”b‘%{%f} 2{x-NH"+3
17. Solve for ¢ in (7t ; o) = 0. = (:ffé_ - g}g =3 F L
Possibilities: = FlefL = )27 =
(a) 5277 = UL s 3 ee =g
(v) 2 9.
| =t= 97




18. When a high school baskethall team charges p dollars per ticket, the total revenue K from ticket sales
is given by the formula
R(p) = p(1800 — 100p). B

What per-ticket price maximizes the teams total revenue?

R (p)=1800 o — 00

s

Possibilities:

(a') $0.03 . igg(“c}e i@fz'm E@n‘f“f‘&c’“%f& o
(b) $18.00 Moy 16 ok ver X N
(c) $49.92 Verkey s ot p= Ho.F
(d) $8100.00
(e) $9.00 ‘{
{
j

Tr — 10 ‘\?@‘é’\k&i &%W‘f } ’@ . ?GC&“S f“‘i\ 53(’?"“’ e M“““’;D”

19. Let r(z) = p— - Find the asymptotes of 7. o zoaia] asgyrp? dedoes I;Q OEQ$ ok ﬂu,‘/;@qﬁ&r

Possibiliti @"I a4 lonomrder
ossibilities: (I,m\ in Thie oo

(a) The vertical asymptote is z = 10 and the horizontal asymptote is y = 4. T J“’L HA Ts Jee m%
¢o. b
CZ)" PUME . GV OO by

i@(\rfl g"-«}(‘m 3 p §€?’fsﬁ; Sy o
(c The vertical asymptote is z = 179 and the hotizontal asymptote is y = 4. - 7

(b) The vertical asymptote is x = 4 and the horizontal asyraptote is y = 1.

@ The vertical asymptote is x = 4 and the horizontal asymptote is y = 7.
(e) The vertical asymptote is z = 10 and the horizontal asymptote is y = 7.

20. Explain how the graph of g(x) = v/ — 6 + 9 is obtained from the graph of f(z) ==

fr -1-» L5
Possibilities: T = J7 = gl=J¥ 89 = $08) 39 .
P %ﬁ\ P‘C'{ f‘:ﬁfw— " 8!/\"{1{ Ml\
Shift the graph of f right 6 units and shift up 9 units to obtain the graph of g.

(b) Shift the graph of f left 6 units and shift up 9 units to obtain the graph of g.
(
(

c)
d) Shift the graph of f left 9 units and shift down 6 units to obtain the graph of g.
)

Shift the graph of f right 9 units and shift up 6 units to obtain the graph of g.

(e) Shift the graph of f right 6 units and shift down 9 units to obtain the graph of g.




The next two problems refer to the graph shown. In the picture below, the graph of the polynomial
function P(x) is shown.
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21. For the graph of the polynomial P(z) drawn above, which of the following can you conclude about
P?

Possibilities: J%Ue- ¢ e ld loolc ke
(a) The degree of the polynomial is even and the leading coefficient is positive. LS

) The degree of the polynomial is odd and the leading coefficient is negative.

(c¢) The parity {even or odd) of the degree of the polynomial or the sign of the leadmg coefﬁcxent

can not be determined by the graph. v Fa i}a (e con rell [ The Pf‘““‘[ @ { e on auinr,
Lalse. (e ook
Hbe g‘“"ﬂ y

’Qﬂf’d! o (el d Loa k- 4‘3”"%3 .

(d) The degree of the polynomial is even and the leading coeflicient is negative. ¢

(e) The degree of the polynomial is odd and the leading coeflicient is positive.

22. For the graph of the polynomial P{z} drawn above, which of the following statements can be con-

( a) Only statements (I) and (II) are true.
) Statements (1), (IT), and (IIT} are all true.
@Only statement (I) is true. \
) Nomne of the statements are true. ;.
(e) Only statement (I11) is true.

2 bne ) r;:
cluded ei;ﬂg” . !/m f:}wﬂr’\ @K‘l "P(‘ 3 hw"”\fi wiw o rw«” 3”{ o ';2
(I). (z—1) is a factor of P(z) - fFo\?? ‘f’;‘\m m:wwé tnply 19(25 b
(II). When P(z) is divided by (z — 2) the remainder is six. P> %=~
(ITN). z =1 is a root with even multiplicity. &~ “i-‘a“miﬂm, {}@‘3 crosses <fhe x- g oxis ah x= "
Telan Nt e '1‘5{%8?43!4, s ‘“3'5!‘1? KRSk KO ;}

Possibilities:
i::




